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Y6 – Place Value

Write the number represented in each box in digits.

405,400 + 5,000,000 + 60,006 =

six million, three hundred and seventeen thousand, one hundred and thirty

Write the number represented in each box in digits.

2,050,005 + 600,500 + 70 =

five million, two hundred and nine thousand, two hundred and sixty-two

Write the number represented in each box in digits.

60 + 4,000,607 + 400,000 + 6,000 =

seven million, four hundred and nine thousand and eighty-seven

Write the number represented in each box in digits.

8,060,607 + 300,050 =

nine million, one hundred and forty-one thousand and eight
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Y6 – Place Value

Write the number represented in each box in digits.

405,400 + 5,000,000 + 60,006 =

six million, three hundred and seventeen thousand, one hundred and thirty

Write the number represented in each box in digits.

6,040,300 + 700,000 + 67 =

six million, five hundred and eleven thousand and eighty-two

Write the number represented in each box in digits.

600,404 + 8,000,050 + 60,000 =

two million, nine hundred thousand, one hundred and seventeen

Write the number represented in each box in digits.

800,000 + 50,693 + 9,000,000 =

seven million, twenty thousand, eight hundred and fifteen
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